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M: When are they going to be ready? (H}X|
W: They were ready yesterday. (HFX|= O{X| ZH|=IUHL.)
QUSRS HIT EAP}HIIZ 71T AAS 2 j2f 2 A
= &20]0{0FX|. Dzt
5

7HZ 0| CHE}E XRSICHT AZISH= SIS0 QI0]. 5HX|2t i3}

0[0F. @H0| HEO| =2 X7} 0|X0f| HIXIE ©H=1 ChA| 2bM "X ZH|E|Lt?72)

ARIZEE2L 2| & AEo] 5| E2ilol. 187 | 2o, of2| MEdX|E 21 H3E 6l =01oF Ch =1 LM
HHSL7| Llol 'HAt2| ORI

=S
—_=

ol

@S Alxat
+a|x| S0k AIRIS 2 747520 Hia), CIZCL B[S HEso| Clojat S T Shs
= O} MefX|Z TLAISHE HEolo:
oz Jb7| A

=Y. 2102, Solution C= AT0|A] M= GHHO| OfL|OF. A2
o2tz diZh2 SHX| P20t .

o1l OfEA M Heak=

2401 ‘ready’ S HRU0|. IR0 T2 M

0| & 7IX| Tip2 MZ5HHA Solution CE H&oHH
ol 0|2] =2l 7 |¥=E= AOIX|. 22iL 0|2 AlgZE

e 2ot

A
=

!

—
izl E2|= 0| & Solution

& Ofx|af Zojl ch

steE-mer

Z HFE A XL R.
FHIE Thetstct.

S2lE0lRA HF
sl 02| &

—> Solution A. O|2| &1 EX}. MEUX|S
=2l= 0|8 B. tiak= & SUX|TH MENXIE el= =50 OHS X2 H07F Q.
K-WE SH=Ch K- W2k 2t Mefx{ofl SRAS 2ofsts Hofck.

HTZHAL.

— Solution B. MEHX|Q|
tsil 2Ct.

ol AEtR| 5 74 S0l lstcht oEte
T 21 F0j OfH 20| LIHSK| 424

A= ZLYS HUX| LA}

olo{=
E‘I?A-l:

S2l= 0l C. et & =1, MEX|= o
— Solution C. £7|7} Ol =2|22| 2H|o|Ct. MEYX|E E 17

Tip 1. ME§X|Q| LAl §I2|S 2Aolof SiLt.
FRUGHRL Allo]l w2t CH=te| ab&to] EafEict.

°|s

Tip 2. Alm|of

39




c11.kr/DBJO6 [w]H]E=

i

Day 6 : Wil=§=

STEP 1 - 74
& 35517|: E2l= 0l & Solution

S2l= 0lF A. T BEA| X|L7F HEL.

— Solution A. 0|2] ¥ Ex}. MEHX|Z 5/ 02| A&HFHIE DIC5H},

S2|= 0l B. AT E= 2 SUX|2 MEIXIE Gi= =50 TS ZX=2 9017 HL.

— Solution B. MEHX[2| K-WE Zh=C}. K-W2t 2} MEiX|of| SPES Fofsk= HoiCk

E2l=0|R C. ATRET M ED, MEIX|T T iU=0| MEX| 5 71 S0l D2ISICE 2EHE TR,
— Solution C. £7|7} O}l =2|2i9| 2H|0|C}t. MEHX|S H 11 7 Foj| oft 2Xt0| LIZLS K| AiZbs| =L}
Tip 1. MedX|o| 4 H2|E olof Sit 31, QHUIRS| SLYS WX LXL

Tip 2. Aol F2I5kXL. Alx[ofl w2} Chte| 22to] Ealict.

2. NHI7H K| 9= AIEHXIS 2hEC

— AMIZ 02 HI3sHFH =Z0| ECt

3. EiRtet Ofxfo] QRS B0} MEXIS BleCh
— OJAIEH 31T QIOIT ROIAIRIl M-S a1 4 9tk
& B2 i3} vs 271 ChiSt
™2 st Zl st
23828 2X/3% =383
HHA
el ‘E7| 2|1 8N = =51 2|0 10|22 E7 = £27 Lt 2fotof Stk
M| (0] 4) 6~87H \ 8~117H
R 71 thSto| A= MERX| O|2|27 |7t 2 SR5H.
) 2128 \ 6~8EH/6~8tH
ATEE (st ) - _ -
I thSte] AT ZE Z0|= F3H0|Ct. SHIR| RISsict.

76 DAY 6: CHHY 25



s

=
S

=/

o
T

g

I.

Al

=
[

HHE HA — @

=<

gl

0 =25 A4

77

)

X1
o

BHAM Z=rh 4.0 (2 4

=

=

7|

=

=

0
0 ¥
<0 =
H0
i
oI -
Ki &
PIRIES mm
on —
= T il
z 1 i
o °
o3 Ko o
<+ 9 i 5
oy = <
1 = %
op o $
W 2
o 0
i K o
o 0 a0
- <0 Wﬂ
@ o =
[e]
om X
_._n_.__._ o . K
uj 1o | — L_A.r
o __ﬂ__ = |83 &g
s 0 TIEONSREO
= | A & IF
Wz i
o] ok
a
ol o
RU R
g 2 =
K0 __AL I—-/I /A 2k
i m_ o Fair
& IE} o 2 B
_”IA pu] _A_“_ ud E_ _/L.\ —
= & H Emm g
o @ - @0 R
< iod < < :._
._“_.w o P'S <
KO Tl




OjL| 2o TAF 18]

(1) =t S0, JAte| OFX|a 2ofl Cheh ofAte] SEe = 7H MES s 12A|2.

(D No. You can't study with us.

(@ Okay. I'll do the report by myself.
@ Sure. I'll call you when I'm done.
@ Yes. I'm pleased to join your team.

®) Sorry. You have to finish by tomorrow.

(2) 2t S, XS] OFX|2} 2o CHEH EAtel SEHo = 7HY MES Ag N2A|2.

(D That sounds good for a change.

(2 That was a great romance movie.

(@ Isn't it expensive to watch a movie?

@ T have a meeting tonight, so I can’t come.

®) As you know, I don'’t like watching movies.

(3) =t =11, JAte| oFx|e} 2ofl theh oAtel SEez 7He MEe s 1242

(D I don’t know which booth is better.

(@ Science is a difficult subject to master.
(@ We have many unique booths this year.
@ 1 think it's more creative than the other.
® I'm afraid I'm not qualified to be a judge.

A p. 76~81
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Type B
(1 @ 2 @ 3 ® 4) @ 5 @ OX©)
(1) ChS &8 4HS E17, Lucy?t BenOll Al & Z2 71 XMESH IS T2EAR. SI=HO)

(D Sorry. Your flight is canceled due to bad weather.

Z[SELICE SOl HIHHE EX| o522 HME o ZS=AELICE

M7t Z0LM HIJHO| FAE RS L= EO0[0F Lucy7t S8 Z{#0[0{0} O &S & 4 URK|?

(@ Come on. We need to leave for the airport now.

ME2. R2l= SR X|IF FZ Etoliofof.

SAUCR K|z EL5H0F Sh= EOIL Ben0| Y71 72|12 U= &M & 4= 0L Ot H2| @H0 M| Lucy?t Ben?| £74= FIZF
2

O
|2l RS FFE 4 U0 HIZLA BAERIE-I24)7} OF L™ BACIE E= TiFH)2tks ZO[ok 23 ZEQ| X E20|M F AZ0| of
o

=
H ARUX|ZEHAI=]7 | thZoll, Hoi= & MEHX|= HEZ XIZ 4 U0

(@ That’s okay. They arrived there on time.
oL TS2 T3R0f| MAIZo] EAH01.

X 3XIQ1 TE0] MIA|Zto E2HH0ksH= AKEH0| L™ o] E 4 9104,

@ Welcome. Thank you for flying with us.

SSBILICH X5l FBS 0IZaHFAMA ZARRILICH

HIY 1S RS W AAMRI(7)2 URE EH0[0F 2 TM7} SILI2| &S L2FX|. AM 25 F{eitts T2 Y 2AE0| Rt
of M QUX|? O] ME4X| = OFEL7EXIOF OfFH ZA| ofhut 22l E 20| TS OfL|7| 200k

(® Never mind. We can meet on Saturday.
S AIZMX] of. 22| YL Uof| BH 4~ Ao

U0 BHe 4 IOL LI Al M| Lati= 210[0F. BenO| BHEK| R3HA] 0IRtsHoH A0l £ 4 QU= O[]

ME-FA|: #3E #HIT|
XIS7HK| & met2 shyo(2tH MM o2 Skt HIR7 |of Ciet 0[0F7|E 5t Qlok= Z HiZ & 4 01,
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[6HA]

She thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the airport right away.

J4d=X
of Bttt

= (2 Come on. We need to leave for the airport now.

HISO0| MFEX| 2™ 21 0| CHA] LojE 4= ATt AZIBICt J2hM 2= X

F5017|1E M2 HCHH 2 AFE 2xof. FEE2 @Holof.
[F WIH7(]
@ EM2b= Tiof 2210 Glof. YoM 23K 0l, A3

27, o7 | M= 715 #A(0]7] thZ0[0k.
@ X 3Xp7H SIFE[X| fe = 2 OfZ=0i| 0[O}
@ HIA7|E EtX| 42 =00k ATkt @t OFEE IR
® BILIX| Zoh= 20| OfL O

XIOtRt Of MEHXIE X2 &~ U

AIS0| 22 Zatoa 7jof Birfe

Al

= W2 BenOf|A| 2ol 10 4

0f. HI=LIA 27} OfL]2} L=

Expressions

W: Lucy and Ben are mother and son. It’s Saturday afternoon, and they're getting ready to drive to the airport
to go to San Francisco. Lucy knows that they should leave earlier than usual since there’s always a lot
of traffic on Saturdays. But, when they’re about to leave, Ben realizes that his suitcase is too heavy. So
he’s now taking time to repack. Lucy is worried that they might miss their flight. Last year on a Saturday
afternoon, she missed her flight because she arrived at the airport 30 minutes late due to a traffic jam. She
thinks it could happen again if they don’t hurry. So, she wants to tell Ben that they have to go to the
airport right away. In this situation, what would Lucy most likely say to Ben?

QOIS AIO|O|CH EQY 250|11, ISS MIZIAATZ 717 2l 2EWIX| x12
17| Z0l HAECHH 2

202 FHIE 5

5| 24510 Btths 2& Lucy= 21 Uk SHX(2E 230

T 9irk E20E 34 DS & ol
3} SU5/24T & 1f Ben AFAIO| O 7H0| LIS CHS 242 THEHECL T2 i 0K A S04 B2 ThAl it

af
10 T} Lucy= AHAIS0| HIYY 1S SE71EE A6 At 2 EQY 220 IHE s HMS2=
| —

= H

usual A

raffic TS

be about to 2t 5}245iC}
suitcase 043471t
repack CIA| 21S MICH
miss =X|C}

flight H|8H7|

traffic jam WS XS

due to 20|
leave for ~2 SY5ICH

never mind A3 MX| O}

A =2GHA XRAQ| HIEZ | SR IHE IS0 MFEX| 2™ T3 20| ThA| 2o{E 4= QUCtn H2iit. T2y
M = XHIS0| ZHIE SR 710k SICh= 242 Ben0i|7| Lal = H0] St 0] 22H0IM Lucy= BenOi|7| £zt
LS SHETR
(5]
Al S0l 7H=X|, BenO| 01| AlZHS I=X|0i| CHEr HF0] LIt US|, SHEE & =7| o= HF20iM O Y&QIX| ti=fXo= ot

ZEL|7H20[OF.

*A0fof st Opx|2p 2T AL EX|H ZHE =




(7) Ct2 et H8S E11, Mike7Z| SusanOf| 7| 2 Y2 718 HEst A5 TEAQ. SI=HO)

(D I'had a great time shopping at the market.
L= AlEolM £86IHM 22 AlZES ER0L.

SusanO| MikeOj|A| £Z0| O{IH=X] 201= W & =~ A= O[O

@ I wouldn’t change my mind if I were you.
LH7F A2 4242 5K 942 7ok

SusanO| 01t 25 1 2ISt1 U=0|, MikeZt XRMO|RACHHE M2t HHEX| @45 0|2t Z215t= &8s 75F& + 2101

@ You can repair your camera at the department store.

H 4| 7HH|2HE 2 S0l 1A 2= Ql0d.

Susan®| 7{H|2t7+ 0 F &0l A Mike7 t #HSFH0l| 71H D& 4 QT HeiE o e 22 HHs.

@ You should go to the department store this weekend.
Lf= 0|1 Z=2tof] H3HE0] 2 70FsH.

0]tH Z=2fof| O{tE 0] =20y EHSIEO|| 710F SiCH= 22 511 Q0. LE= HE ‘this weekend 2H= E510| LI ‘this'E ‘next 2 ‘weekend S
‘weekdays' 2 HEE 4 QICHD Mz 2 K| FsH+= TO|of.

® I'wish I had gone to the electronics market with you.
LH7H L2 20| TIXIKIE D]l 24U T SASHIG| ZHo[oF.

Susan0| TAHIE ﬂH’é*OiI CHAZE=G] 77 1M 7HH2HE & MA| A2, Susan0| 21 AFLE MikeOf| 7| Z2AZCHH? MikeZ O RI5HH @t
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M: Susan and Mike are coworkers. Susan tells Mike about a camera that she’s interested in buying this | coworker &
department store BHS}E

weekend. However, she says that she’s not sure whether she should go to the department store or the
electronics X H|ZE

the day before Z'Z0]|

sale &0l

electronics market. The department store is nearby, but tends to be expensive. The electronics market
has good prices, but it takes more than two hours to get there. The day before, Mike had been to the
department store. He saw that they were having a sale on cameras through this weekend. He knows that
the model Susan wants to buy is now cheaper at the department store than the market. Mike wants to

suggest that she buy her camera at the department store. In this situation, what would Mike most if 1 were you Li7} Lfafed

likely say to Susan? repair =2|3}Ct
'=f: Susanit Mike= 21 S20|C}. Susan2 ARAO| OfFH 20| Al 1 2HAS T Q= 7| 2toi| Thal MikeOl|A| 2BHCE 1
AT —h‘iP‘ Oil 710k &X| OtL|H HMXIMIZ OhEOl| 7t0F 2X| 2HA0| MX| Q=T LSt sk 7RAR|t,

=
[
2

HIR ZEH0] UCE TXIHIF D2 20| X[ A7 7K 7h= i & AR E A Z2ICH ol Mike= 210l ZIACK

= HSRH0IA Ot 222t LHLH 7|2} SQl ZHof BALS Sh= A4S EUTH 2= Susan0| At 2101 k= (FH[2}) 220|

SRl (BIXIAIE) DHEECH SFE0IA O MChs 2 21 UCH Mike= 007 7HH2ES W20l A 4 2S Hiekstn
Aloj 8tk 0] 420 M Mike= SusanOflA| H2tn L 517=71?

[aH&]
Mike wants to suggest that she buy her camera at the department store.

Mike= JH0l|7| 7HI2HE H3FE0IM 4 XS HM2tet 210 BiTt

=@ You should go to the department store this weekend.

Susan0] 710215 Al HakE0l M ALK, FAPHIE 00l 7 Ax| D915t Qlof. 22, srs 0] Mike7} S5HE0l 7u21S MY
5= 262 201, 130 Susan0l SEFEOIAM Al 20| o SCHD oD &f. this week 2H= EH 3t 21} SUIH0] oiZEoR Fe
2 @Ho[oF.

[2E #IH7(]

@ Mike7} AZIS ZICH 2 242 glo}. 51Xt X2 221 LS & 7} OpLIK].

@ Susan0| 0td 212 5411 Q= AIEL0| OfL|OF.

(3 ‘camera’2} ‘department store 7kX| Ct LI27 | W20 DA T 4= 104, A T MEHX|Q] @HOjl= camera7} Qg EIX| 947] THZ0|
X|. 5HK[2H repair2h= K- WS FHQUTHH QEQ1 242 2 24 QJ910].

® CHAR AFRH SusanO| OFL|2} MikeOE. 12|10 AT FMXHIE DiA0| OFL|2} EiSE0|OF.
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I T SESt=2t +1301. OlM| & i
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2UX| HEYE 710k Hiz E3I2 Zolk= = =H0E UR=E2| st
10| AS 7Ok F|oF FHOI2IM D S2l= SMSE US R 271= al.
= SAls B2 EES0| #EA FOX| 0] et ALK 271=7] tE
off ofEH Lie™ Jod stdSE 55 E2l= 70[0k S| e =
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[=]:R5 =]
= Akt (1) - BElsh| c11.kr/DBJO7 [EINTEL,

STEP 1 - 7H&
19813z S50/M= OfHA2] ZRIZIZ0

9.U=tE =1, A X2e 53U 1=AR. 3]

@ $120 @ $140 @ $160 @ $180 ® $200

OHo 2 EX|xl= 700k 3HL 2 Exi|xl= 2HE W2 SHS0| E2l=
SHX| 2 E AHMEX| dg o= U0 &2 SHUST UoolH &l

LS— - AN

S}11 Solution= L0t= HIH| 0] 02| R 2HE 202X} E7| TES %EEM ot ZX 1I“' 0151}.

‘Z’»OIXI- EHEf% _/.\_7H01|A1 oS0 | SHAISHA| Bl

1. i3IS =1, (APt XIZE FHE T2A|2. 4. SIS E11, AP ME 2O KXI0jA| F0{0F & FUS

@ $500 @ $600 @ $700 AL

@ $1,000 ®) $1,200 D18 @ $20 ® $36
@ $40 ® $50

2. i3IS E1, (AP XSS FHE T2

@ $560 @ $700 ® $1,100 5. CHBIE E11, AP XSS SUE D2ENL.

@ $1,400 ®) $1,540 D99 @ $16 @ $18
@ $20 ® $27

3. i3S E1, APt XIZE & 2US T2AR.

@ $66 @ $94 ® $120 6. 3= E1, FAVI XIS & U2 D22

@ $148 ® $160 @ $230 ® $235 ® $240
@ $255 ® $270

HE2 HO|X| S Ao U04.

LHREC| ShliS0| Bt 0l SRS 710k o[ SXICHD LT 7|5 X[ 220t &, OftH EHHO[ ELf LHH = 2X0IM 2 2

ol

* HEH2 AR{IZ, O, @, OH, OH, @, @H0(0k 624= & ZHIE +EHA01. JHESHEE ot 7l CiAl 2 oIFoIL siES X FHotEH

r
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B | 20/hx?2
S S5/d/s x 2 x 1 -10%

F | 26

(u]
-
ol

2 SPYS0[ ZX|= F20[0F Tl FO{X|H 1 K00k ofi. 22 A= MOFX]. B2 C—’.*%‘EOIAIE@MIH SE HEst=
FE0M FEO. BE2 712 x i O[H| F 7ML RAS S5t == KA 377 LU E@tet HX|. 2ol HlE
M= UTHA Flofl /5'0fl shgohs KAt SlLL /doll siEdh= CHE <Xt otz LEE 7Eks A2 0l2] ol o242 3to] =4
E= T UAS HOL

%

TIECHH O TH|7E QT O HHO R LIQE=X| QO0IEX}. 25 7ISE HE0(0F LEZ2 2XIZ HElet {0}

1. The muffins are $2 each, and the apple pies are $4 each. 1.2/e,4/e

2.1t’s 10 dollars more per person. * 2. 101/p

3.1t's $20 per hour. 3.20/hr

4.1t’s 2 dollars per scoop. 4.2/s

5. They charge $10 per item. 5.104

6. It's 30 dollars for the whole cake or 5 dollars per piece. * 6.30/w, 5/p

7. They're $5 per set for one day. * 7.5/s/d

8. They're two dollars per 100 grams. 8.2/100g

9. It's 30 dollars for an adult and 20 dollars for a child. 9.30/a,20/c

10. The admission fee is $30 per adult and $15 per child under the age of 12. % 10.30/a, 15/c|12

* HAIE HS0i| cish F5k oz
2H0IM= ‘more’0| ZQaH. Th5] $107} OfL|2E H|wE Sh= 70k 2Hf ojl A5 S20| $SACHH 0] 252 $107t Of
8157} £l= AR S2l= A1z EHIE 2 oF 5.

6HHO0fl M= ‘whole'0|2h= o7t E24H. 71|0|37<1E.':. ULE HO|UA D= 25 Z2 dR0l| 278 S TAS

O
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= AlA(2) - 10% AL c11.kr/DBJ0S []4

STEP 1 - 71

Day 70| M= E2]= 0|7 A0 CHSt Solution AS CHEIOL| =2 £2|= 0[] BO| LSt Solution BE U= 7{0F.

4 Solution B
E2|= 0|8 B. AAO| & ot 2.

S2 T3] ZUOIA 10%S SQISHCkD 5181 3 3 4 01 SHRIBH 7K DA 2IEHEH LIK| 48 1 £ 4 U= A
ARHOIOF. FHOIHO = 0] A 2t BEIO[2} M2tsh. 27| Fioll 21| ! HE B0k 7ok M offol U= B 2HIS
E0j2

$1005 10% &tQIst 712427 §

O{ZX| X7 O|K| SZXIE HEOF Z201= 70k 0|27 | YX|Z Hol|Ct7F K0E0f. 30= & U7 ARKS & M1 Z0is
ZOJgt FH0| U01. YIS LotLt siFE=X|7} OfL|2t &QISH 2ty HOfIXIS FaH0 ks,

1. $1502 30% &0l5t 712422 $
2. $2002 15% goIst 712422 §
3. $3005 25% &QISH 7HH=2? §
4.$4005 30% oISt 7122 §
5. $1402 15% &tol5t 712422 §
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LH ol &f0ll= 25 2~37H™ = UUS 74 20} 47 ==t 2SI Sk

$1505 30% &2lst 71A42? §
2. 2005 15% ISt 712422 §
$3005 25% eIt 71422 §
4. 34005 30% It 71427 §
5. 81405 15% Eelot 71422 §

O{EAH EA0|? TH X201 SUE $1005 10% EQISH 71242 Ao 2 S 70} T2H| 2[2] S2X|= A0| £IX| LUK|?
150 x 100 =45=150-45=105
200 x 15 =30=200-30=170
100
3
/ 28
300 x =75=300-75=225
O
2
400 x 30 =120 = 400 - 120 =280
100
15 =029
140x =750 =25
CHEEO| SIMS0| 2|9 20| 201 12| 0|2 A| 31H @2f Za2| 1 QHRSICt7t A4t 4= Q0. £3| 0fX |2t 2xl= 42 1t
0| CI2 2r|ECH= 2RBHM AlZH QM| ZX| 23HS M. $1682 23% &IQ15H 7142 Aat2tn= LI 2|7t §iX|9t $1402
15% &Rlet 714 M= S26| LIE 4= U0f. J2{H O[X| L= H{EA E=X] YHE|. 302 oF 22l 24 20}
15x3=45
20+10=30
30+30+15=75
40 x3=120
14+7=21
10% AAHOZ F 7{OF 10% AAHHO[ZE FO{ZI S| 10%E 7|ZC 2 AAS Sh= B0 |0F. 10%= F0{ZI S2H0iM 0
2 St 7|2 A =f. & O[S OF E = QUOL| & O XIM|5| MHHEA|.
E7|2 BHA FH=CH 4.0 (X 71dE) 103
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320l 2K £ 7 9 SRS T
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£ 7oL 62/9e/4s 1070 MEA|ZSE 2O AL 87HES
of A% HYE 0| H7 |07t 21E MZtet Z/|= SIH —1‘%?;‘101.*
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ol
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152X

S =M+

20 =X

2 0} 2I513U CIEH AEl0| SRISS ZOf
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OjL| 22 TAF 18]
(1) ti=tE 21, 6APt Xige =

@ $27

(2) =t 211, 6Pt XiZet =

@ $140

(3) LHEtE =11, (AP X2 FHE 12A|L.

® $500

(4) tHE2 E1, 6AP | XIS & SUS 12A[Q.

@ $66

(5) CHEE E1, 6AP | XI2E & SUS 12A[Q.

oHZ T2,
@ $30 ® $35 @ $36 ® $40
S TEARL.
@ $180 ® $200 @ $252 ® $280
@ $600 ® $700 @ $1,000 ® $1,200
@ $94 ® $120 @ $148 ® $160
@ $148 ® $150 @ $154 ® $160

@ $144

54 p. 132~138
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1)@ 2 @ CRO, @ @ 5 @
© @ 7 @ ®) @ © @ (10) @
(1) tetE 21, WA AI2e S%E 12 SI=HO)

Expressions

W: Hi, Mr. Gold. You look busy today.
OHISIMIR. Gold M. 2 Htt 20[A|H|L.

M: Yeah. It's one of those days. How can I help you?
dl. a2 SIRU|IR. O{E =2t EEIR?

B
W: I want to have these coats dry-cleaned and my skirt shortened by two inches.

0| ZES2 E2{0[Z2| 51 M AHEE 221X £0|12 LTt

==

M: Okay. How many coats? Each one is $10.
UASLICHL TEJLH HO|R? TE SHHET 102 QLI

W: I've got three coats. And how much is it to shorten a skirt?

MIERILICE 2|1 AHES E0l= A2 Hntx?

M: It costs $5. How many do you have?

SE{QILICH H Ho|&?

W: Just one. Oh, I also have to pick up my son’s soccer shoes I dropped off last week.
S LTt O, X0 M| oFS2l Z+1at= Hot7tof Lt

M: Yes, I remember. One pair of shoes, right?

4l, 7|5t USLCE

ot
E ML

gtz =, SLe?
W: Yeah. I think I still need to pay for the shoes. I forgot to bring my wallet last time.
. bl gztez== 1
HER.
M: Yes, it's $5.
4|, 272 sErLICh
W: I see. I'll pay for everything now. Can I use this coupon?

LASLICE XI5 TR XZsHSUHCE 0| F2S ALEE 4 UALIR?

AIZol| CHol CIES] (MIEHIS) XIE2E 227t U= A ZUIR. X|HH| XIS 7HH2E A DU

M: Sure. That'll give you 10% off the total price including the shoes.
S20|&. OAS ARE5IH ALS A6t FA| HIZ0H|M 10% SIS oM = JSLICE
W: Thank you. Here’s my credit card.
LAFRILICE 07| H| AZ7 = LT
C 10/e x 3
2in S 5x1 -10%
Sh 5x1

[sH4]

XS0l oAt ZEQL AFEES A5
ZE2L|7H 0|0k O] ZH|0l M= CHHS| A0[X]| RIU0H.

2|1 Mol 2! AMEES R0tk 2ot e O X=5HK|
Skirt' 2| St ZX|L| ‘Sh'2t 1T AMFOFZIX|?

et

==

OFX|2fof LiQe Solo)l et #3i= SR8, ALS =alsh x| FAUolM oIS shErtn
9|5t SH9| 10%E SRsHE CtS 1 S0l $55 Cishok sk= 7ok

132 DAY 100 CHEE

I} ‘two inches' 2} Zal. 0|2 Alo = MH| O LX}7} LIRCHH

2 PN s

S

dry-clean E210|Z2|'d5ICt
shorten (Z0|E) £0|C}
have to 5HOf SIC}
pick up (2671 £742) Zr}
drop off (E1S) &7ICt
last time X|:=HEHO]|

including 2 8t6HH

It’s one of those days.

=78 9= 30 SRR,

pay for everything
= 2= NS XI=3sict
LER2 Z01Z0t0F of. K| MUX|

L] 710l ZAIA FHok ol Yalg =

H.
=

04. kK0 ‘excluding’0|2} 1 FHCIH Al

AN

mjo
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(9) =t E11, 6P M= 2o 2 HR0IA =00 e SUE 1EA2.

P=HE)

Expressions

W: Hey, Mark! Have you thought about a present for our parents’ 25th anniversary?
OF, Mark! 22 254l Z=7[EY MZ MZIsHE01?
M: 25th anniversary? When is that?
25HHI) 7| U? AMIG?
W: Mark, please! You know how much they care about us. You should care about them, too. It’s this Saturday.
Mark, H|g! £2H0| 225 0Lt H2eh=X| L&t HE £ 42t 6l 0] = EQO00L
M: Let’s buy the present together. You, Justin and I can each pay one third of the total.
MZ Z0| ARKL L Justin 12|10 LHZF ZEKF 320 1A LHH &,
W: Okay. Do you have something in mind?
1AL 2= A of?
M: How about a pair of couple’s running shoes? They like to take walks.
7HE 233h= ofu? Alisk= 7 Z0I5HAITOL.
W: They already bought brand new running shoes last week. How about couple’s scarves since winter
is coming?
X|tz=0fl o]0] M 2S3HE A0 20| 211 YO 75 AFII= O{EHTR
M: Oh, that would be great. Let's find nice ones.
2, ZCh =2 42 Fotx)
W: Okay, I'll check online. [Typing sound, Clicking Sound] Look! I like this striped one. It looks fashionable.
e, 2erelo SRIsHE|. [E0[E A2, 22| A2|] 047 B! L= 0| ERLI7HOIZ0 S04, M 20,
M: I agree. How much are they?
L= T38| 2tel. Zotof?
W: They're $15 each and as an opening promotion, if we buy 2, they give us a 20% off of one of them.
Sttoll 1SE2{ 1 2 AR 27HE Al 1 5 Ull= 20% RIS 2 4 104
M: Great deal! Let's buy two of them.
Z4|! 5 71 ARXL
W: Okay, I'll give you my share tomorrow. Tell Justin about our decision, too.
LA, L 2 LHY E7|. JustinBHel| = 22| ZHS L2iF.
M: Alright. I'll order them first.

U0, Yet T8

142
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take walk AEHGIC}
scarf(scarves) A7}
fashionable HR\=
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1/3

X
S St 15ex2 -10%

[aH&]
O A= L7t 20171H0i| STt oAl +E& 2X|0F (8)H 2XI7t 2018 9& EHofl EM=IRA2L] LH7t0jo] 1 FHof| EXSt 24|
O[X|. B7HEOIM L EMIS 210 HSAS 2l= gled, 23 L7 EXIE Mizfehs 2Hnt B7Ho| 2MIE MElsh= 20| X [HCH= Kol
OF. 22{L| F0fl LI2= X2 ZHEE O{FECI SYSHK| 211 oS 53] &flsh. oI LISX| 22= AU 2L
OR7IRIZ, 22 71721 25 F i 301l StLfol 20% SIS Btz A, Tx| $30011A 10% YelS she At Z2o8 2 $270F Ha2|E i,
A ZEIE ol
22t OfL{2} O ZX[0l= (6)HOllAM CHE 7 IEEHIE B LTI 20| L2k (6)H0llM= = HOIM 20| Ak= <202} Tl pay for half.”
2h= ER0| LIRKO|. SHX|2H L= 2L EIHIOIM 24 23S ZEE Hats WS 57| 20 30|M LIFAM Ats d&ez EZHE o
01, ‘half = Thes] BFOJ2k= SE0[2kM HLS| YsH £4~ EE10] OFLIOF. SHX|ZH one third = '1/3'S Soh= &4+ E310/0F. OFX|2{0f= 0

Xp7F RO RS LHY ZCH2 5, JustinOi| 7| = Z2YS Le{Eati 513 Q0. Ofot Justin? CHae| HA OV I CHE HSHO|ZX|?

rol

=5 HoI0f ol 22T Ot el #5 BHM Zo E310]| ok 2Oot2 =5 SlAL.

1/2 = one half 1/3 = one third 1/4 = one fourth, a quarter 1/5 = one fifth
2/3 = two thirds 2/4=1/2 2/5 = two fifths
3/4 = three fourths, three quarters 3/5 = three fifths
4/5 = four fifths

> 2= TIRERD + MER) 2 HH.

7|42t ‘one, two, three, ... & 250, A2t first, second, third, .2 LU3l. 7|4= 7|2, 4= 2A0|Z2A| 2/R2H m5|.
» 1/2 22 AL ‘one second 2} MX| 411 1 ‘one half 2F11 M.

EXI7H10] OH! BR0ll= FO| M0l 2] 'S5 204
> 227tH491 A= fourth’ CHAIO] ‘quarter(FE]) 2h= TS F2 M. FE X7} 1/40|2k= K2 71X Q0.

STE Z4HEZE 0|F0K U0 T2 =2 M= BRI FE7E U0 1R(El= $12] 1/421 25MEE s,

5. 2ot oAt XIZE =
|2 ZXHIE 2ol Atof LK
dl.. 2= 7 Hol M

017|M 23| O o{ZAH S 4= U0 6Pt S U1, IS S0IM 212 J2 =9 B4 L= d&s ST
S S0 | Z4o] vho| HEY BT, HAP K28 £ So{=H FA 32| 1/40] FEO| Z 7o} 13|
ORIt 2HS A| Hat 25 2ojj2t AZEA. (9)H

LZ0| EMIE SR 2H2 A 2= AS5H2! SHX|2H Q2= SIS 2 28 Hol70kK| 5 5
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Day 11: 29| E’H/Txﬂ (1)
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Day 16: 1X|2 228t

Day 17: tiEH =&
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B 70 S 2702] tiEHES BR0. 2LeFE= HEIMM & 4~ AUK0| 012
20 I E2 FYSS S A0k A MRl MEe= EX|=l7| tEol
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Day 13 : \@=EREW c11.kr/DBJ13 [l

STEP 1 - 71

S
rE
=
K
S

Hz S0, QHE S| EXL. @HE L7 ©HO0| ZO[3L.2!! R{0F? 2l ©HE SEX|?? (HIS)

M 0|2 AloZ E7{. 1 0|R= HIZ E719] 3|UM(E= L3|N) IhE0[0F Saliet Ee| 7= U2

0| =710f
== T L7 2= B HojZ 5{0l glo]. 1A =T HIS0| 24 Fofl & ZHS= & 2 S2|A =l et

AP0l ATBS S < 21010 90| 0012 XY 244 0t A0 0] SRAE T8 A1 RS Day 1301
U%| RS Day 14, 15014 CHE 740}

2= HiE O YR 72 ot ol 6oz EHIEIE 3I 0| S2l= 7Yook E2|H TFS0| =0| Yl =27 | =
5fal, AAZ XR|Zof| BHhX|7 | &= SEX]. SEI—' L O A2l 7| 20l S20] BoiX|= SS9l 7HY 2 EAIE0[oF.
N 5 EX| TRLSHK| ¢ T A2 SOHK]. &~ 01|A1 ASHR| ZE ol QALY & 20| X2 SHX| = Z=2.. ot
X2 2= 0[RS LotE T 10 CHt Solution= Hi= 7{OF.

¢ S2l= ol

A. O SU=H FEO| SN

Z S| SIS M= oAl TEAE?

slot E3l0| Ligle.
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Day 15 ;| QiCEI¥) c11.kr/DBJ15 Ik

STEP 1 - 714

Day 140{|Af= Solution AZ HiRKIOL| 252 Solution BE HIE 7{0F. S2l= 01 BE= 2U&6HK| 242 013]9 #50] LIt
01

H01.

4 Solution B

- FZ BIL|A M4} MR

SAICHA 2E 20 A2 AR

b

HZ HILIA M7} M2

3%

Ct.

O[] 21 A2 7417 20} 2O}, 2T SA| HE| HILIA M40IA FEIS HOIZ 0K A2t &)

before? £, O}L|0}. FZ! B|L|A M4~= ‘former tennis player' 2t F&45H. 0|2 Solution A7} YLD SHE HEIE ZE2EHE
2 == Ql01. 00i CHSt Solution2 E& TH{E H0| 2= 7{0f. SEX|2H 0|74 LT SASEX|? T2 BIH 770 A2 LX|A

Tl thes =R = O ol et LRE HOISS FRl6HR0]. HMA, EX1Y THE| tids SmEX;

SAR 2T 1B -7 o
2018 Upcycling Workshop 19. 25 Orange Tree Day Care Center 18. 6
2018 Youth History Tour 19. 6 Creative Minds Science Club 17. &5
Global Design Conference 18. 5 Community Closet 16. &5
10th Special Lecture 18.98 Global in Action 15. 94
Science Quiz Olympics 17.9¢ Amazing Art Lovers 4. 25
Art Museum Fair 16. 62 Lovely Cover 13. &5
Summer Camp 15.62
Science Essay Contest 15. &5
Presentation Contest Of| A2
&2 40] 14. 62
Future Lawyers’ Internship Program 14.9¢
Pacific Language Learning 13.9¢

SAE JIEEE 7 [EKED) JIEEE

Bonobos OfiH|AISH Megan’s Bite 19. 92
Four-eyed Fish 14. 68 Pine Tree Family Park 17.6&
Tasmanian Tiger 14. 92 Bamboo Pond Restaurant 16. 92
Sausage Tree 4. &5
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Type B
2 MEX|2| EX| Z2IE0| ZES R0, 0= OfEA HAEX| M2l 2 = =7| S S2H 22X

HEOol eIt ofd 2AI7E A, 222 FE Ol et 7H0l= et Jh7} OfLE = Tf 2% =2 504

(1) Sausage trec0fl 23 CHS LIRS 1, UR[SHA| R S 25 T2A|Q.

@ H|7t SF U2l= XollM = F2=C
@ '@7HH 20| 57t = mf Tt

=2 20| 0|F0{X|H ICHS ' OFEo| 2O{ZICt.
@ o= A XIS HUAD HE 5 UL

©® X|FRIS2 S ZOtL7| 2o SotE AtESit.

(2) Maple High School’s Group Presentation Contestdi| 25t CIS LSS E11, UX|

QI_I
Ral
52
rr
N
o
o

duE2 §P01I 2ot Z40[0{0F ettt

(3) 2014 Photography Seminar0fl 215 L+ LIBS S, UR|GK| R 22 25 T2A2.

@ 68 1U2E 68 627IX| E2|= HALO|CE.

@ 100E0| E= LA} CHYSt T2 20k CHE o =0o|C
@ Z|A AR EH|ofl Thgt 2F0| A= Aol
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HE:

Expressions

M: Hello, students. I'm happy to announce that our school fitness room has reopened after renovation.
Everybody’s welcome to use the facilities to improve your health. But, there are some things you
should keep in mind in sharing a workout space with others. Always use a towel to wipe down your
equipment after use. If you're finished using dumbbells, bands, exercise balls, or other equipment, put
them back in place. Otherwise, people may have trouble finding the equipment they need. Also, don’t rush
others. If someone is using a piece of equipment, wait until he or she takes a break. Lastly, remember not
to occupy a place for too long. Everyone has a right to use the equipment, not just you. I hope you can all

respect each other and have a great workout.
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Heh @ @
Expressions

M: Ms. Moore, this is where you'll be staying while you're with us.
Moore M. 07 |7} K32t &7A| /A SO HEA LICH
W: Wow! This room looks very nice. @ Can I use the phone on the bedside table?
2! 0] Y2 FL 20t H0[==Q. FCH & EXI0l U= HSHE £ £+ USTIR?
M: Sure. Feel free to use it.
E20|X|Q. OFSHZ MMIL.
W: Good to know. @) I like the lamp above the bed on the wall. Itll be useful when I read in bed.
L. Holl 201 U= Tk /o =TIt aokZ0 SLCH Eooll M HS 1S I RE3HI0L.
M: I think it will. @ And I just put the flower-patterned blanket on the bed before you came.

T ZLch O2|7 QA17| Hofl YE Hoholl 2RE 3RS H SUK.

W: It’'s very lovely. @ Oh, look at the mountains in the photo next to the window. They're beautiful.

P o @, TE Hol AR U= A & EMQ. OFECHAL.
M: They're the mountains behind the town where I grew up.
M7 izt ok Flofl s ML
W: I see. B May I use the computer on the desk?
I FMAL Q|0 ZEEE ME EIR?
M: Of course. It's connected to the Internet.
SELICH ESo] HZZ|0 UEL T
W: Great. I'm lucky to get this room.
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